COMMSCOPE’ Instruction Sheet

P040-0095 Revision B, January 2024

Mounting Kit, For Tri-sector Antennas
TS-MNT-TOP-370 Mounting Kit

GENERAL INFORMATION PRE-INSTALLATION INSTRUCTIONS

e Top of pole mounting option e Examine antenna and kit fo ensure that all parts are
Fits round members 5.9" to 10.7" (150 to 273 mm) pole enclosed and that there is no physical damage.
diameter.

PARTS LIST

ltem Description Qty Image lfem Description Qty Image
1 IPOLE CLAMP 3 10 [RADOME ASSY |
11 |IMAINTENANCE ROPE 1 “©
2 |ADAPTER BRACKET 3

12 WSHR,FLAT,M5,5.2X20X1.6,SST 6
3 |ADAPTER PLATE 1

13 ISOLATION WITH TAPE 6
4 STUD,THREADED ,M12X195,STL,GALV 6 /

14 SCR,BH,FLANGE,TORX,M5X25,PASS, NYLOK| 6

5 WASHER,SELF LOCK 6

15 SCR,BH,FLANGE,TORX,M5X18,PASS,NYLOK| 6
6 | WSHR,FLAT,M12,13X35X4,STL,GALV 12 .,

" 16 | Cable tie @ —

7/ INUT,HEX,M12,STL,GALV 48
8 |BOLT,CARRIAGE ,M12X40,STL,GALV 12 m
9 IWSHR,FLT,M12,13X24X2.5,STL,GALV 6 .,

www.commscope.com
© 2024 CommScope, Inc. All rights reserved.

Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information. ¢ UK

All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0095 B (01/24) c € CA Page 1 0f 4



INstruction Sheet P040-0095

B
B
-
B
5=

]

DEI
EDtE
1

>720 mm
5
5
| © | Y
If cable will be routed outside the pole or pole diaometer is from
Effective length of pole must be @150mm to @200mm, bottom endcap on shroud musting be
more than 720mm disassembled by cutting 6EA plastic push rivets with cutter.

INSTALLATION PREPARATIONS

NS

UNPACK THE PACKAGES

www.commscope.com
© 2024 CommScope, Inc. All rights reserved.

Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information. c €

All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0095 B (01/24) Cn Page 2 of 4



INstruction Sheet P040-0095

INTERFACE 1

INTERFACE 2

FIX MOUNTING KITS ONTO ANTENNA

www.commscope.com
© 2024 CommScope, Inc. All rights reserved.

Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information. C €
All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0095 B (01/24)

UK
Cﬂ Page 3 of 4



INstruction Sheet

Liffing point A

B
]
o
i
i
B
i
o
i
[y

0|

)

o
i
i

|
I

P040-0095

_@j Control vertical distance of antenna

Torgue other M12
nuts To SONmM
S

}

vy

L\ N
I T TTII
lj (
) ((R®
4 ‘#-

e

B

1

==

—t

Pay attention dimension A should be

equvilent with dimension B

= q@% =
/ | A |
- e
Torque to SONm firstly
3 _
9 i,
D)
Loose all M12 nuts, 3 | I | B
move pole clamp to fit pole ‘ L J L J _ AL
LIFT UP ANTENNA AND FIX ONTO POLE
P —
f @
) @
00

SAFETY NOTICE

The installation, maintenance, or removal of an antenna
requires qualified, experienced personnel. CommScope
installation instructions are written for such installation
personnel. Antenna systems should be inspected once a
year by quadlified personnel to verify proper installation,
maintenance, and condition of equipment.

CommScope disclaims any liability or responsibility for the | . . |
resul’rs Of improper or UﬂSCIfe iﬂSTCI”OﬂOﬂ proc’rices. Do not install near power lines. Do not install on a wet or windy

Power lines, telephone lines, day or when lightning or thunder
and guy wires look the same. is in the area. Do not use metal
. . A i l ladder.
It is recommended that transmit power be turned off cloctrocute you, o cacer

when the field installation is performed. Follow all
applicable safety precautions as shown on this page.

www.commscope.com
© 2024 CommScope, Inc. All rights reserved.

1.5 Nm

Wear shoes with rubber soles and
heels. Wear protective clothing
including a long-sleeved shirt and

rubber gloves.

Visit our website at www.commscope.com or contact your local CommScope representative or BusinessPartner for more information. C
All trademarks identified by ® or ™ are registered trademarks or trademarks, respectively, of CommScope, Inc. P040-0095 B (01/24)



	Sheet1
	Sheet2
	Sheet3
	Sheet4

